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(b) If margin of safety is Rs. 2,40,000 (409 of sq
and P/V ratio is 30% of AB Ltd, calculate Cs)

ts (i
break-even sales and (ii) amount pf profit op )
of Rs. 9 lakhs. -

afc AB faffies & quan W 240000 5,
(o &1 40%) 3R PV IR 30% 2, & oy
(i) w-fa=de fasa qu (i) 9 A Fo F fagy

- TN F A AT S s

(c) X Ltd has earned a contribution of Rs. 2,00,000

and net profit of Rs. 1,50, 000 on sales of Rs. |
8,00,000. What is its margin of safety?

X fafis ¥ 8,00,000 %o & fwa W 1,50,000

& | @9 qd 2,00,000 Fo FH AMKH FHAE|

R W Em AT 5
 Or (3w

(a) Defmse Managem@nt Accountm li}d W&m
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(c) The ratio of variable cost to sales is 70%. The

break-even point occurs at 60% of the capacity
b sales. Find the capacity sales when fixed costs are
i ~ Rs. 90,000. Also compute profit at 75% of the
capacity sales.

_. ﬁmaﬂtqﬁaﬁﬂ?ﬁammwﬁm%%l
- wn-fag fag awar R % 60% W AT R
o fas fefae S@ R @EE 90,000 Fo R

F

e fast & 75% Woaw ot fEfart - 5
(a) Differentiate between Product cost and Period
“ cost. i >

IAE AN § A" ard ¥ A< Hifeg | 5

~ (b) In a factory, 100 workers are engaged and average
rate of wages is Rs. 5 per hour. Standard working
3 hours per week are 40 hours, standard output is
10 units per hour. During a week in February,
wages were paid for 50 workers @ Rs. 5 per hour,
10 workers @ Rs. 7 per hour and 40 workers @
" Rs. 8 per hour. Actual output was 300 units. The
:  for 5 hours due to breakdown

= b
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(b)

" from next month. This will also incre

~ follows:

sfell @ 5 o Nf He, 10 FEIE = -
Hﬁrsiaamma;dalﬁﬂ’faﬁsaoqﬁlqa:

fapar Tar | aTEfas® SARA 300 THE A1) gy
i FOHd % RO FRE@H H 5 9 H TE gay

sy e fereor, s g faaor S fafr gy
far=rcor &t T SIS | p: »
Or (31gan) '

Distinguish between Standard costing and

Budgetary control.
A ST qan awda Fre § e Hf 5

A company currently manufactures 9600 units per
month of its only product and sells them at Rs.
120 per unit. Recently it agreed to a union

demand for 15% increase in wages with effect
ase the

variable overheads accordingly.

The details of current cost of production are 3%

it (Rs)

T 1

Scanned with CamScanner



5
1216

(i) Raise Production and sajes suitably without
changing the selling price. How much sho

uld
- the sales be to maintajn the same level of
profit?

(ii) Raise the selling price suitably, but maintain
\ production and sales at current level. To
attract dealers, increase the sales com-
m'ission, The variable selling overheads

increase by Rs. 4 per unit. Suggest a suitable
price to maintain the same level of profit.

TF @ AR T A FE A @ 9600
wEE S0 WE IR @ R AR R 120
st WA W@ @ A T o
S R g e W e
¥ 15% W g TE TR TRed Suer o
g A W
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‘when working at normal capacity. It incurs

6

) foa e @ ufEfdd fR fa ,

| ﬁaﬁﬁwﬂmﬁmlm:?_ﬂ;
ey ?

iy fosra Fwa # I0IE FW R/ T

mﬁ:{aﬁaﬂﬁaﬁﬂﬁwmmml

ﬁ%mﬁﬁﬁﬂmwmﬁﬁaml_*

- ufedee foma SUREE F 4 %o Wy g

Tt gf | 9 F 'R T @A F o o

FIHd TR | _ 10

A paint manufacturing company manufactur :
2,00,000 p.a. medium sized tins of Spray-Lac pai

following cost per unit:

Particulars _ B R

Direct Materials e AR
Direct Labour ; ‘ 2-10 -__
Variable Overhead 2-50 j
Fixed Overhead | 4.00

Total Product Cost per Unit 16-50 |

Each unit of the product is sold for s. 21 “'ii

variable :
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geurred” @t a uniform rate
additional costs of plant shyt d

‘ cstimat(’:d at Rs. 14,000.

1216
throughout the year.
own for the quarter are

You are required:

() To express your 'opinion, along with'- the
calculations, as to whether the plant should be
shut down during the quarter.

(b) To calculate the shut down point for the quarter
in units of products (i.e., in terms of number of
tins). o

AW 9T W HH A gC G o< Fmivht o

B-a A2 % W AR F A F AT 2,00,000

fet s o eelt @ 1 @ form o e g S

L |

- : Ry

| % - - 210

| ' Iufema gl g 30
e Dt 6 b ikl F '_..' : ) :‘ﬁ‘m '
gall L AN TN T A S T Y

Scanned with CamScanner



1216

8

mmaﬁg%ﬂ*@?m@ﬁ%

Affies @mTd &1 STAA 14,000 o 7 | s

Y STETIHAT ¢

(i) M faeEm 2| mmmféamwf;raqm#
FREM & o< HEAT 6T a1 T

-(u)mﬁraﬂﬁﬁhmaﬁﬁiﬁ%ﬁmg

ﬁq@ﬁﬁaﬁmﬁﬁ(mﬁﬁﬁﬁaﬁma
%air,mt)l "

 Or (a1
A company at present is working at 90% capacity ang

producing 13,500 units per year. It operates a flexibe

budgetary control system. The following ﬁgures are
obtained from its budget:

Semi-fix

Capacity _l90%  Ti00% }
Sales 1500000 [16,00,000 |
|Fixed expenses 13,00,500  |3,00,500 i
Variable eﬂ:_enses 1,45000  |1,49,500 |
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b) What price w.()u]d you recommend for export of
these 1500 units, taking into account that overseas
~prices are much lower than the indigenous prices?

@ T TR 90% NN W Fd wwy o
# ¥ 13,500 THEA H IART W @ § | mg
deeiiel aoedt Fraemr someht @ wwen w4
4% swe ¥ f afe fiem '

g 90% T100%
IEERS 15,00,000  [16,00,000
fer =@ 3,00,500  [3,00,500
yREdviie =4 1,45000  (1,49,500
3u-fer =9 97,500 [1,00,400
fiffq sedat | |13,500 [15,000

1909 e W W WA faw 0% ®1
(a) SR G B 100% T TG 1500 T
S 3 & fag < (Differential) ST ST

4 i e -
4 | . v i 18’ Y , v o IREL TR, e
1 I
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a-fredT favaw ¥ w0 amg @) W fig
| &t Argad I g7 ‘

. 5

(b) A company has a plant capacity of 19,800 magp;

hours. The plant can produce either product Alne
product B or a mixiure of the two productg T:rl
following relevant information is given: <.
FParticulars Product A |
Selling Price per Unit gl
Variable Cost per Unit Rs. 30
Machine hours per Unit Shrgi.
Particulars Product B
Selling Price per Unit Rs.30
Variable Cost per Unit Rs. 18
Machine hours per Unit .- 3 hts "

Market conditions are such that not ':hore than
- 5,000 units of A and 4,000 units of B can be sold
in a year. Fixed costs are Rs. 60,000.

Calculate the product mix that will maximize the
~net income and find that maximum income.

ohg . Moot Tl R s L S B Ay
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FerarauT __ 126
| . IR B
foshd R Afd §0E Rs. 30
mm“ﬁﬁé Rs. 18
q‘&'ﬁ'—[ﬂ%qﬁ[gaﬁ A TS R

arar Wt T ¥ w A & A s s
gl 3R B F 4000 A ¥ W@ T A
W wE ¢ | R @0 60,000 T ¥

T2 s {9, frefee St fad o & afasm
R 3R 7@ fuEad AF & WA HRECL 10

Or (319a) ol

(a) What are the different mgthods‘ for the measure-
" ment of Divisional performance? -

Fasfrar et o AT A fafve fafea @ E0

; (b) XY Ltd has prepared the following sales budget
| for the first six months of the financial year
2016-17;
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.estimate bf.thc next month. On 1st Apri]
there were 13,500 units of the product a ha;:ﬁle.

Thete. is no work in progress at the end qf any

“month.

unit of the product requires two types of

Every
al input in the following quantities:

materi

Material A 5 kg
Material B 6 kg

rial equal to 50% of the requirément of

Mate
on is to be in hand at the

next moath’s producti
end of every month.

This requirement was adequately met on 1st

2016. |
Prepare the following budgets for the first quart
of the financial year 2016-17: o
(i) Quantitative Produ_c_tioni Budget {8 !
(if) Material Purchase Budget (anh;itaﬁv?} |
forfta ad 2016-17 & JoH 6 @ & g X

o ¥ Fort fagr awie A fan & |
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mmﬁmm%%mﬁm
m%ﬁmmms%%mmw.

1aﬁazo16aﬁmaﬁlasmmﬁmﬂ
of |

forl st w1 3 o 3 s @ e 2
TR A TEF T A D R A s
aﬁﬁqﬂmﬁmﬂz |

‘HTEIIﬁA.Skg |

"HI'H'IﬁBGkg

_‘.mmtmﬂwﬁm%mﬂaﬁ
aﬁmaﬁm%qu‘imﬂ‘ﬁmﬁm :

| 1aﬂazo16a$tuzawmmwhm%t{uf
H T ot

fa?ﬁtraﬁzow-nﬁmmaaﬁﬁﬁq
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Indirect labour

\ RS. 12

Indirect material Ul

Ul
Semi-Variable overhead:

Power (30% fixed, 70% variable) R, 59, {!
- Repair (60% fixed, 40% variable) Rj, l{!.

Fixed overhead:

Depreciation . £ SR, 110

Insurance 1ol Rs. 3,09

Others _ Rs. 10
Total overheads Rs. 62,00

‘Estimated dirédt labour hours"‘ '124,000_ .:4.,
80% &l TR W frafafed sfhsl & M |
YT & AT AEER a5 SAEY a1 70%, 809
sk 90% Wa= auar @ W SUR I & ™A

2 . 0P
B STIE A i e xalts 184
E 3 AN i R
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Fl ST Rs. 62,000
SR UEE Y 5w _ 1,24,000 hours

' 10

; ) Calculate from the following figures:
(i) | Efficieﬁcy ratio |
(ii) Activity ratfo '
(i1) Capacity ratio:

~ Budgeted Producticn 880 units
Standard hours per unit 10 |
Actual Production 750 units
Actual-Woang hours 6,000
() faita sgam
(i) wfafafy e
T S 880 units

il
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(b) Responsibility Accounting
(c) Transfer Pricing

(d) Zero Based Budgeting. | |
Frerferfaa & & fel A 0 WA feomft Fify,
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